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OL2AIE & THESdEe M| 22l (Hgd) 46,532
—Jl=s 35,9703 x4 & »200 28,776
—2tAHI 3,000 x4 200 2,400
—TR=>d 35,9703 x4 H x52 7,482
PN 35,9703 x4 »15& 2,159
-2 4UEE) 40,817 ,000& *14% 5,715
Oogee JIZEA & MESEE +=H 63,756
—Jl=2s 34,9102 x6E 200 41,892
-5+ 34,9102 x6H 52 10,892
— Xt 34,9103 x6H 15 3,142
—2EI4UEE) 55,926,000 *14% 7,830
O#atxl Mgl = (0tde, otolH) 9,553
—Jl=2s 34,9102 x4 H+60L 8,379
—2E2(4UEE) 8,379,000& »14% 1,174
201 LBt 260,890 269,890 29,000
01 Ar= 2t 5,500 8,500 A3,000
OHJIZHMelIAE 22A =& 7,0003 x5& %100 3,500
OFAdH 728 & =4 100,000 x105+13l 1,000
OMgJl e & 23 E22 MH 50,000 *10&*223] 1,000
02 524t 255,390 261,390 6,000
OsZHJI=2 SgXcld 332 MAl 3,000,000& x12& 36,000
OAN&ZEHISXIHI (A2, W, HESHE 300,000& 105 +12] 3,000
Ot 203,750
—HAXE(110H) 1,70024 %30 £ »11CH*300L 168,300
—XIZ(1H) 1,700 %30 £ »1CH =150 7,650
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2A: TAIEZ
M NG MEsd DM (S#ZES/HIIS)
SEICIBTEE (e @
SN EHE - S(BH) - MM - BLS sl e RS2
— Ul (EHEH XIARL) 1,700% %20 £ »2CH*100L 6,800
— X2, FHl USRI ¥ A2F P2 (140) 1,500,000 *14CH 21,000
OBEZ(HIIEAM, NSXM L&) 800, 000& »14CH 11,200
OJIEISBRZ(BZHNERES) 60,0003 »12CH x23] 1,440
202 O4Hl 6,840 7,800 2960
01 WA 6,840 7,800 A 960
Osal2 M| A el 25 30,000 15 +12& 5,400
QHII2™elAld Jd&X Ast 60, 000% x4 H x63] 1,440
206 M=l 9,300 9,300 0
01 M=H| 9,300 9,300 0
ONg=sdH 228 7L 100,000& x5 43| 2,000
OMNZdEA & SSE PPEN ME 2 700& 7,0000H 4,900
OMEEE =& .28 HEZH FL(1EE) 8,000& *3000H 2,400
301 LetEaag 5,250 5,250 0
10 HAAHIE &3 3,150 3,150 0
OHJISHelAld SAX d&X A 70,0003 45 x13] 3,150
12 JIEtE243 2,100 2,100 0
ONMEEZE(IsHIIE) =8 2=+ S A& 2,100
— R 1,000,000& 152 1,000
-2 =+ 500,000& 15 H 500
-& d 300,000& 25 600
307 QI2t0IA 46,800 0 46,800
05 2IIRAE =S 46,800 0 46,800
O s4a= MdJ| ®I¥ XMeldl 65,0003 x60E+ 128 46,800
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SN SAEZD
M NG MEsd DM (S#ZES/HIIS)
Sl Md] ZE R HEES (el &
SN SRI(BH) - MRAY - BES 0] &k o8 e Hl =2
401 A &HIZL 2048 66,400 65,400 1,000
01 Al&H| 66,400 65,400 1,000
OoMdl HEdE =8 & EAEY 550,000& *42| «12& 26,400
OMgDl BHIEXAE e & Ex(ELS, 2HoH) 500,000 *2001 2 10,000
ONMESE HEAE(LHEI S) HE* 5,000,000& *2& 10,000
OZsHIIS(BAIZE) Xl 100, 000& *200& 20,000
405 KHAHFSHI 33,000 19,000 14,000
01 ML ESHSHI 33,000 19,000 14,000
OLEXE FEA FU(HEEES) 6,000, 000& *2CH 12,000
ONEEE 2el=H8) 2UBEER) 300, 000& *30& 9,000
ONzEAE 2ot RL(HSH) 600, 000& »20CH 12,000
T Bl 2 42111 X & 56,000 49,000 7,000
= 11,000
i 45,000
301 YptEaazg 56,000 49,000 7,000
= 11,000
= 45,000
12 JIEtE24 3 56,000 49,000 7,000
OSHIEXZ ALY 56,000
—HElY =Hbl XI&(70& /kg) 703 800,000k 56,000
L= 11,000
i 45,000
HOIZ MelAld 3,379,880 4,285,160 A 905,280
= 2,120,000
7 = 1,259,880
HIIE2 XM2AE 29 259,880 435,160 A 175,280
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SN SAEZD
HE: NS M

&2 HIIZE MelAlE (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

201 Let2d| 102,080 105,360 23,280

01 AtE22lHl 2,400 2,640 2240
QHIIZHMEAE 2858 +¢ 200,000& 124 2,400

02 2323l 99,680 102,720 A3,040
OBA CCTV AHS LUHE (R EU) 400,000& =122 4,800
o2z IItHE M4 RIIEE =8 500,000& 123 6,000
OXd| HEE &F A =3 11,400
—&dE= 350,000& 123 4,200
— Xlot= 200, 000& *9JH 2= *4 3] 7,200
OXHE HIOIS(HIAM)Mel =22 270,000& x3E+12& 9,720
OLZAlE OoI=24 A =3 5,500, 000& * 17 & %23 11,000
OUEAE IAEN =25 (7TH &5) 160, 0002 *123] *3JH & 5,760
QHIIZ2ZEXN2E A= 51,000
—A2NE BXH2(ER) 1,700& %20 £ 100 «12& 40,800
— 22| S(3s8) 1,700& 20 £ 1002 *3= 10,200

206 M=H| 23,800 24,800 A 1,000

01 M=l 23,800 24,800 A 1,000
OHJISMelAlE ¢ AZF(AEH) 30,000& 200 6,000
OUEAE g5HM L (LHMAE) 30,000& *100= 3,000
OL2AE £ AZ(OtEAL0, E4E) 20,0003 x2& 50 [H 2,000
OFE+ HoAE A4S (STEH 28) 20,0003 *35 50 [H 3,000
OL2ANE 225 7Y 40,0003 x10&*123l 4,800
Ox22 HHelE PPEN 2L 500 & «2Z*2,0000H 2,000
OBEZ U(H&E2, M= S) 600,000 *5CH 3,000

401 Al&HI YL S OHYI 114,000 135,000 A21,000
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SN SAEED
M NG MEsd DM (S#ZES/HIIS)
&2 HIIZE MelAlE (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
01 Al&H| 114,000 135,000 221,000
OSEAE EE&=HelAld H.E= 10,000,000& * 14! 10,000
Oa2tAld el WX 6,000, 000& *43| 24,000
OALZAIE M. .Bx(SXAIE S) 20,000,000& * 14 20,000
OMEZCIEE Ex(012. A0S EH) 40,000,000 »14! 40,000
O & &. 252 4X 10,000,000 * 14! 10,000
OEZEUH == 88 H.E=x 10,000,000& * 14! 10,000
405 AHoHESHI 20,000 7,000 13,000
01 TR =S HSHI 20,000 7,000 13,000
OEdH 2 2 (MHEES) 5,000,000 = 1CH 5,000
OSA XDl Meldldl L (RLUHALESE) 15,000,000 «1CH 15,000
HII= &8 HMaAld & 670,000 2,600,000 A 1,930,000
= 270,000
= 400,000
401 A &HIL 201 670,000 2,600,000 21,930,000
= 270,000
= 400,000
01 Al&HI 268,056 2,190,424 21,922,368
OZHIEZ ALY 268,056
—HIISSEHMAIZ(HE) 268,056,000& 14! 268,056
= 268,056
02 Zeldl 400,000 400,000 0
O=3HIEX=AE 400,000
—HIISSEMAAME (M, A2 THEEES) 400,000,000& *14! 400,000
03 Al 20HY| 1,944 9,576 ANT,632
OZHIEZ ALY 1,944




llﬁljlg b

31
8 A

c*i;a—*épc‘! TH(BEES/HIIZ)
clAld (98
SA R (3) - By s ol e =5
—HIOISZSEHMelAIZ () 270,000,000& %0.72% 1,944
= 1,944
Ml A2AlE & 200,000 1,250,000 A 1,050,000
= 100,000
= 100,000
401 AIEHIZ 20 200,000 1,250,000 A 1,050,000
= 100,000
= 100,000
01 AlEHI 198,560 1,247,602 A 1,049,042
O=HIEX=AS 198,560
=MDl a2 A4 &X 198,560,000 * 14! 198,560
= 100,000
= 98,560
03 A& 1,440 2,398 A 958
OZHIEXTAY 1,440
—MgIl a2AlE 4X 200,000,000& *0.72% 1,440
St==MIHDI MelAld &X 2,250,000 0 2,250,000
= 1,750,000
= 500,000
401 AIEHIZ 208 2,250,000 0 2,250,000
= 1,750,000
= 500,000
01 Al&HI 2,241,900 0 2,241,900
O=HIEx=AS 2,241,900
—ot=RIHIl McIAE &X 2,241,900,000& 2,241,900
= 1,750,000
= 491,900
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2A: TAIEZ
M NG MEsd DM (S#ZES/HIIS)
&2 HIIZE MelAlE (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
03 AIZ20i4l 8,100 0 8,100
O=HIE= At 8,100
—ot==MIMNHIl MelAld &X 2,250,000, 000& *0. 36% 8,100
HE LA (SAIZZ D) (JIEH/DIE) 1,381,162 1,488,226 A 107,064
ol 2| 1,259,212 1,368,676 A 109,464
OIA2HH|I(ZAIZZ D) 1,259,212 1,368,676 A 109,464
101 el 1,259,212 1,368,676 A 109,464
03 RIAHAZZHE = 1,259,212 1,368,676 A 109,464
OZ0let& 1,202,822
—Jl=3 1,170,000 x29 122 407,160
—&0= 277,530
F2+Y 1,740,000& x29Y 50,460
M= s 1,740,000 *29E «250% 126,150
Jlg=g 1,740,000 *29E «200% 100,920
-2 176,844
AN2He 2R 11,5503 x29 20 « 128 80,388
s 92,390 x29H 3« 123 96,456
—giRsS=E 61,590% x29% 15 26,792
— MG 100,920
EE 27,840
#HH < Xt 40,0003 x29% x12& 13,920
IR 20,000 x29H »2H « 123 13,920
ANEHEHIEEE 150,000& *29H 43| 17,400
SExgRE 90,000& »29H «12& 31,320
HAEHA+E 70,0003 x29% «12& 24,360
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2A: TAIEZ
Y HY2IEHI(SAIZZ D) (OIEH/DIE
cHol: ol 2| (69 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
— UGS A 160,000 *29H » 123 55,680
—uWsE2x2H| 140,000 *29H x 123 48,720
—HEF Ot 1,770,000 29 *120% 61,596
— JtAIXI 2 8 110,000 *29H » 123 38,280
—E=Y 50,000 x 1 *12& 600
—JIEH(TI=HI) 150,000& *29H 23] 8,700
ONEES dE&Y 56,390
—Jl=22 35,9703 x3H 25 x 123 32,373
— 23 32,373,000& *10/100 3,238
—&0= 32,373,000& *4/12 10,791
— U2 3,149
A2t 2R 6,700 «3HE x5 <128 1,206
SL2RFE 35,9702 x3H 12 «12& *150/100 1,943
PN == 35,9703 3% 20 2,159
—= Al 130,000& 3 12 4,680
Jl=&4 121,950 119,550 2,400
JI2&Hl 121,950 119,550 2,400
201 LetEIH| 66,000 67,800 21,800
01 AtR22/Hl 66,000 67,800 21,800
ORMENM 1,940,000& *30H 58,200
O=gl 4,200
—S20 Al Y| 7,000& «30H x20! 4,200
OFTUNSAI| L (AIRA, HIOISH2E) 150,000& «2CH =12 3,600
202 (44l 51,750 51,750 0
01 =LHA b 51,750 51,750 0
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2A: TAIEZ
A HY2IELI (S AIZZ ) (O1EHDIIE
chel: Ol =AY Chel & 2
SN BB SRI(BI) - MIRAY - skl e s
OZLH Bl 80,000 30 ~12&
Ozl 85,0003 30 x9
203 ¥R =&
04 RA2SLRF=AH
ORN2IHRFHI 350,000& x12&
HRES(SASBZD)(BBLE/MG4E -
LHEHHXI =
AL EES
701 JIEtRI AN ES
01 JIEtIHEE=
O=Z&d SEH &= 955,225,000&
702 JIsdES
01 JISHES
OS2AFDHYIIZ HES(2424YR)
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